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The objectives we are working on in this week are:
· To recognise that shapes with the same area can have different perimeters and vice versa
· To calculate the area of parallelograms and triangles 
· To calculate, estimate and compare volume of cubes and cuboids
This week you will be focussing on developing your knowledge and understanding of different measurements: area, perimeter and volume. On Monday, you will be calculating the area and perimeter of different shapes; then on Tuesday, you will be finding the area of triangles; on Wednesday, you will be finding the area of parallelograms; on Thursday, you will be finding the volume of cuboids and finally, on Friday, you can practise some of the skills you have learnt by having a go at an interactive activity using the following link: http://www.learnalberta.ca/content/me5l/html/math5.html?goLesson=12

Using the link below, click on Summer Term – Week 9 and each day (Monday – Thursday) watch the video and complete the accompanying task (these are printed in your pack). Lesson 1 – Monday, Lesson 2 – Tuesday, Lesson 3 – Wednesday, Lesson 4 – Thursday. 

https://whiterosemaths.com/homelearning/year-6/















Monday (Part 1)
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Monday (part 2)
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Tuesday (part 1) 
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Tuesday (part 2) 
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Wednesday (part 1) 
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Thursday (part 1) 
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Friday 
[bookmark: _GoBack]Click on the link below to have a go at some more perimeter and area activities to practise what you have learnt this week:
http://www.learnalberta.ca/content/me5l/html/math5.html?goLesson=12
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Area and perimeter
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T you start with a rectilinear
shape, when you increase
the area, the perimeter will

increase

It depends on
the shape.

Who do you agree with?

Draw some examples to support your answer.

o Two rectilinear shapes, A and B, each have an area of 12 squares.

le.

« Shape A has the largest perimeter pos

« Shape B has the smallest perimeter possible.

Draw shapes A and B.
raw shapes A an: T

What do you notice?

€@ Mr Jones has 50 m of fencing.
He wants to make a rectilinear enclosure sing all the fencing.

@) Draw an example of a shape he could make. Give units on
your diagram.

is the greatest possible area of the enclosure?

the smallest possible area of the enclosure?
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Area of a triangle (3) © Whot mistake has Dora made?

To find the area you do
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o Caleulate the area of the triangles.
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Compare answers with a partner.
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Area of a parallelogram

@ on o piece of squared paper, copy this parallelogram
and cut it out.

@) Create a rectangle by cutting off the right-angled triangle and

moving it.
b) Complete the sentences.

The area of the rectangle is squares.

The area of the parallelogram is squares.

© colcuiate the areas of the parallelograms.
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@) What mistake has Huan made?

b) What is the correct answer?

area = m

@ ssther hos labelled the bases and heights for four parallelograms.

Three are correct; one is incorrect. Tick the shapes that have been

correctly labelled.

YA N =

(] (] (]

Explain to a partner why one is incorrect.
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° Calculate the areas of the parallelograms.
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a) Calculate the area of the rhombus.

b)
The area of the rhombus is half
the area of the rectangle. This
means that it is a special triangle.

Explain to a partner why Mo is wrong. @
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@ Find the volume of the cuboids.

You can make them with cubes if it helps.

Volume of a cuboi

a) 0 0
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@) What is the volume of the cuboid? -
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9 What is the volume of this cuboid? )

© colcuiate the volumes of the cuboids.
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© colauiate the volumes of the cubes. b) Draw two different cuboids that have a volume of 24 cm®
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